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General Instructions: e ligds”
1) Read carefully and attempt all questions.
-q/d’:,myrﬁmu:’ga_/i_v

2) Encircle the correct option of each MCQ as shown in the example below.

—e WUt e ld.vufﬁaju/,.,mé‘ LZJir & 2 -
Example: 2H,+ 0, — xH.0
The above equation is balanced when:

:..,z‘ganc))l}"@ul/@’ 6:4;1:‘)0»

@)x=2 (b) x =3 ) x=4 (d)x=6

3) Use black/blue ink for writing. Use of lead pencil is not allowed.

e S LS Gt SISk /S LA
4) If more than one option is encircled in a question, no mark will be given.

2 bl A3 S L ezt Lt

Total Marks: 48 | Part-A (Multiple Choice Questions) | Total Time: 1 Hour

~WALSL Dy p- st ety 80 B2)UF U o i
Instructions: -Thirty two (32) Multiple Choice Questions (MCQs) are given in this part. Each
question carries 1.5 marks.

Q. No.1. Which of the following is a voluntary action?

S"LU)/J.’UA’}LJJ”)‘,?J#’
(a) Breathing Lo (b) Heartbeat J sl s
(c) Reading oy (d) Blood circulation SN

Q. No.2. Which of the following can cause stone formation in kidneys?
‘-"cffc S K S A un S B S e s
(a) Salts a” (b) Sugar S
(c) Water 4 (d) Fruits K
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Q. No.3. Identify the ureter from the given diagram. gl /".Jg’crljllﬁéfd;

(@) W
(b) X
(© Y
(d) Z

Q. No.4. Number of daughter cells produced from a parent cell in meiosis is:
:4‘-8ymﬂﬁ~’)‘7‘;.J_u&:.‘kégf.{upld
(a) 2 (b) 4 (c) 6 (d) 8
Q. No.5. Which of the following statements is correct for mitosis?
?‘ac/uufgjyé:'/;él.uyﬂ/c)f c:.u-fd,:)',?Jﬂ

(2) Number of chromosomes remains same LL@/J}V WSS s )

(b) Number of chromosomes becomes half La&(gn‘f’ff;lﬁd/ st

(c) Gametes are produced u:“&af‘f"f

(d) Four daughter cells are produced sk }5;/%

Q. No.6. Replication of DNA produces:
<3/ k6DNA

(a) Carbohydrates u’}/,@f[[}f;g (b) Proteins Ty

(c) Vitamins b (d) Newstrands  Jx ~&

Q. No.7.Which of the following is a biogenetic product?
:‘LJ;@;/,._,@Z{ b it 5t
(a) Disprin L3 (b) Aspirin LA
(c) Insulin e (d) Quinine LS
Q. No0.8. Which of the following mosquitoes is the cause of dengue fever?
S Brosf i Al ud e Ui 0m
(a) Male aedes Py (b) Female aedes ZiInl
(c) Male culex N s (d) Female culex S
Q. N0.9. Which one of the following is the major cause of lungs disorder?
e 2SS0 SUs R o Ui g i

(@) Water pollution J})TJ&g (b) Noise pollution A
(¢) Land pollution ~ $»»7¢& (d) Airpollution  §s57dix

Q. No.10. All of the following gases cause greenhouse effect EXCEPT:
iy F oS B U etk paa

(a) carbon dioxide ST 356 (b) methane o
(c) hydrogen Sk (d) water vapours — =nidT

Q. No.11. A scientist found dead fish in a lake. Their death may have been because of:
:‘LG'C)’L.?)JL Lt G I s S SE LS

(a) greenhouse effect &?Luﬂ,qf (b) acid rain j;gq;;;"
(c) noise pollution S (d) deforestation ik~ if2
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Q. No.12. Identify the balanced chemical equation among the following.
St dLd i e s g i

(a) 3N, + H» —_— 2NH; (b) N, + H> —_— 2NH;
(C) N, + 3H, —  2NH; (d) No+H, —» 2NH;

Q. N0.13. Which one of the following is an example of chemical reaction?

?c‘_(f’fdlf'u(dﬁg'djgﬁ{a.uﬁdjyjﬂ

(a) Evaporation & (b) Melting ¢4 (c) Condensation —2* (d) Burning ¥
Q. No.14. When sulphuric acid is added to water in a beaker, the beaker becomes warm. This is an
example of:
e Uy g blostp ST e b UG £ e S
(a) exothermic reaction SISl 5 (b) endothermic reaction §u 15t sk
(c) decomposition reaction u‘“frd/u%}{ds (d) displacement reaction ¢ e
Q. No.15. The colour of turmeric paper in basic solution becomes: :‘gb'lgn.f/%Ll;dAutd)gL‘ﬁ
(@) yellow i (b) brown 1% (c) green - (d) red ¢~

Q. No0.16. The device used to measure the strength of acids and bases is called:
:‘Lb’llzv(Jfﬂl;LndL*pléd:ZrL:Ble'/f 1

(a) barometer Ko (b) altimeter K&
(c) metre rule Ju (d) pH meter ApH

Q. No.17. Weight of an object is 600N, the area occupied by it on the ground is 1m?.The pressure
exerted by the object on the ground is:
Kot 2SI ZS el A3 1My siee 600NesE 3k
() 600 N (b) 600 W (c) 600 Pa (d) 600 J
Q. No0.18. Gas pressure is used in the working of:
SetaJeig 2 s Skl g

(@) Pneumatic drill 6y (b) Dynamo i
(c) Generator by (d) Electric motor s/ s
Q. N0.19. The pressure exerted by air is called: te bl e Gnz 2y
(a) critical pressure S (b) atmospheric pressure 2, &
(c) absolute pressure Al (d) water pressure Ay
Q. N0.20. The unit of length is:
e gbdyd
@ N (b) sec (c) kg (d) m
Q. No.21. The correct reading on the given measuring cylinder is: :‘szju/;ub};bg?gam,;
mL
50
(@) 30ml =
(b) 40 ml =
(c) 43 ml — 40
(d) 57 ml =
=30
Q. No0.22. The process of cooling an object causes thermal:
-‘L&.‘?}J —————————— (31!] Jf (é,/(lﬁf iu’(

# (b) conductivity Jui
(c) expansion g (d) transformation * 31

3

(a) contraction ]
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Q. N0.23. The liquid rises in thermometer because of:

e S LT LW K 3
(a) evaporation & (b) condensation
(c) contraction 4 (d) expansion S

Q. No.24. Solids contract on cooling because their particles:
re i3 £ u}’(}/'ﬁ /,Ly:lﬁa"p.l;lu;;
() speed up S bw (b) slow down S
(c) become smallerinsize _fibxls5 (d) disappear Ut lon G

Q. No0.25. The type of lens shown in the diagram is:
:c‘-ouc‘-&@l{;f’ﬁg{)i’uﬁrl/@ﬁ

(a) double convex N3 (b) double concave 3

(c) plano-convex Jf;f - (d) plano-concave prcgn
Q. No.26. A short-sighted person uses ----------- to see distant objects clearly.

-‘Lb'/dlf'f/l—- ————————— 4&&541)51:fu:;3‘fwu"’56/@/_}.§1

(a) concave lens #,& (b) convex mirror 55"

() convex lens AUt (d) concave mirror ¢
Q. No.27. In the given figure, the lens is labelled as:

=+&(L)J~""/f~) H PG

(8 W

(b) X

()Y

d Z

Q. N0.28. Which of the following semiconductor materials is most commonly used in electronics?

2‘4Jﬁf(i{dfﬂl3i.ndbpiu£)¢_§/‘ﬂf;}glcgﬂdj,?/ﬂ

(a) Lead Y (b) Silicon Sifs
(c) Tin 5 (d) Germanium &z
Q. N0.29. The energy generated by fission reaction is called:
‘LGU;J/ G dl;é_nl,ﬁguﬁgld/cjﬁ
(@) solar energy Sty (b) wind energy G A1k
(c) hydel energy  GAJi (d) nuclear energy &1

Q. N0.30. Which of the following is an example of output device used in computer?
:+JK>J L TaeusTd i ne1 2 VL/‘;;{
(@) Printer K4 (b) Mouse Uil
(c) Keyboard ad (d) Scanner A
Q. No.31. Which one of the following is a benefit of space exploration?
S Lot BP St 5t

(a) Cloning Ak (b) Electronics Ny
(c) Locating minerals TRECH STy (d) Genetic engineering .fffu.,cw
Q. No0.32. Which of the following is used to travel in space?
‘Lan/t’ndb:’lééé,/jf‘uf;ﬁ
(a) Telescope 7?&5 (b) Helicopter 7
(c) Aeroplane Az iz (d) Rocket I
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